"

L0 2L R 1028 £ B 5 1= SfF 0T A
R P

R ARMEA T R AR AR
- HE B ERGEA 0 E 60 A

1 osklimt 2 S s n _ :
"1.3 1-3-5 1.3.5.7 1.35...2n+) —

2 ‘%ﬁ;‘%+1=20113ﬂ FHfE(x > y)F 5 e? % e o
3
3. KB y="+— aHF[= 2]t Rk E .
4, HcFios 22T ko £} i# o
5. wAfdkz, 7,k X7 Hz 42,1220 |22, =243 Rllog, | (2,2,)"° + (2,2,) ™ =«

6. F- JHFL PFIEF 40 LHEA (HY - A LFLE) cKEMF L0 BRI F I
WP 3540 LE A ORISR DB RIFE N KE o xﬁ;;‘lg\, o, & ‘i‘l?‘%{if’éi’ag
HRE- B sT o BT A FREEREL DIV B AR FAF A ERTREL T €

IR R R o R TLE AL BB F BN A e B o
7. % AABC ¥ ’56:11~Kaz4f(mﬂA—B):%’.ﬁﬁgéﬁﬁii? o

-
=i



s 2 o . n. .n n n n n o o
8. NG pR#ErH »i[7]+[?]+[?]+[7]+---+[7201z]+[m]=32 B []As 2

5o RNz Bk B o] Eefrd o
9. = Zd My=x+kCHx+10 Fd RELT (F3 E2 8 E 2T EkiE B o

10, FnE- B= 8K nT 3 hR = 28 AN PINAT5 7 oA e &

=

S P EA104 > £ 40 4 o

2" +2
3

o

1. Eni6enE@icon: t Fiic #P 1 C)+C/+CJ+---+C) =

2. EPpARAWIDFHEED CHWE- Bp KREn> nN+n+1% (N+1)° —n° —1cnF )8k -

3. FE: g<sin1°+sin2°+sin3°+sin4°+sin5°+sin6°+sin7°+sin8°+sin9°<%

4, xa~b-~c¥ i EH F® 0 7|)abc@ -b*)(b®-c’)(c-a’)

N
=i



